Clock: Hannum, factor: Mortality, tissue: Blood

A 0.00 100% B : Effect [95% CI]
PUB545 - : 1.35[0.94, 1.94]
PUB526 - :':- 1.04 [0.98, 1.10]
PUB526 o : 0.96 [0.86, 1.07]
PUBSS52 - : 1.05 [1.01, 1.10]
PUBS52 : 1.14[1.03, 1.26]
PUBS95 - - 0.98[0.92, 1.04]
0.05 13.6% PUB550 E-) 1.05[0.98, 1.12]
PUB550 - : o 1.05[1.01, 1.09]
PUB550 - : 1) 1.05 [1.02, 1.09]
PUB550 - : o 1.05[1.01, 1.09]
PUBSS0 :o 1.03 [1.01, 1.06]
PUB550 o : o 1.06 [1.03, 1.09]
PUBS50 - o 1.01 [0.99, 1.03]
_ PUBS550 o : o 1.05[1.03, 1.08]
L,i 010 T PUBSS0 - E 0 1.06 [1.03, 1.09]
g 5 PUB547 - : 1.08 [0.96, 1.21]
g PUB547 - : 1.09 [0.95, 1.25]
PUBS547 - : 1.12[0.91, 1.38]
PUB547 - : 1.40[1.22, 1.61]
PUBS563 : 1.10[0.94, 1.29]
PUB099 o : 1.10[0.93, 1.30]
PUB099 A E 1.52[1.13, 2.04]
0.15 5.9% PUB169 - : 0.89 [0.64, 1.24]
PUBL169 - : 0.92[0.67, 1.27]
PUB241 : 1.53 [1.05, 2.22]
PUB241 - : 1.31[1.13, 1.52]
PUB241 A : 1.34[1.18, 1.52]
PUB298 - ¢ 1.00 [0.98, 1.02]
PUB298 o 1.00[0.97, 1.03]
PUB29S - :o 1.03 [1.01, 1.05]
020 25% PUB298 :o 1.03 [1.01, 1.06]
PUB298 - 0 1.03 [1.00, 1.06]
o Efflect e PUB298 - :o 1.03 [1.00, 1.06]

|
. Power 0 - 10 Power 20 - 30 Power 40 — 60 Power 70 - 80 . Power 90 - 100 Summary | : ¢ 1,04 [1.03, 1.06]
. Power 10 - 20 Power 30 - 40 Power 60 ~ 70 . Power 80 — 90 | ; |
0.607 1 1.649

o =0.05, 5= 1.04 | medpower = 27.8%, dagy, = 1.05, degss = 1.07 | E = 14.29, O = 18, pres = 0.193, R-Index = 1% Effect



Standard Error

Clock: Horvath, factor: Mortality, tissue: Blood

100%

5.4%

5.1%

5%

5%

5%

0.368 0.607 1 1.649 2.718
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 5= 1.02 | medpower = 5.5%, Oaas = 1.14, desyo = 1.2 | E = 7.28, O = 8, pres = 0.779, R-Index = 0%

Jamod

B

PUBS545 1
PUB526 1
PUB526
PUB552
PUBS552
PUBS595
PUBS550 -
PUBS550 +
PUBS550 +
PUBS550 -
PUBS550 -
PUBS550 -
PUBS550 +
PUBS550 +
PUBS550 -
PUB547 1
PUB547 =
PUB547 =
PUB547
PUBS563 -
PUBO099
PUBO099
PUB107
PUB107 4
PUB107
PUB107 1
PUB107 1
PUB107 4
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 4
PUB107 4
PUB107
PUB107 1
PUB107 A
PUB107
PUB107 4
PUB107
PUB107 1
PUB107 A
PUB107 4
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 4
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 4
PUB107 4
PUB169
PUB169 1
PUB241 1
PUB241
PUB241
PUB298 -
PUB298 1
PUB298 1
PUB298 +
PUB298 +
PUB298 -
PUB338 1

Summary -

=

'ﬂ-O-O-G-@'o——————————————————————————————————————————————————0—6930-@—:—

s %

T
0.368

T
0.607

Effect

=

T
1.649

Effect [95% CI]

1.35 [1.03, 1.76]
1.05 [1.00, 1.11]
1.06 [0.97, 1.16]
1.02[0.99, 1.06]
1.01 [0.93, 1.10]
1.00 [0.96, 1.05]
1.05 [0.98, 1.13]
1.04 [1.00, 1.08]
1.02 [0.98, 1.06]
1.02 [0.99, 1.05]
1.01 [0.99, 1.03]
1.02 [0.99, 1.05]
1.00 [0.99, 1.02]
1.03 [1.01, 1.06]
1.04 [1.02, 1.07]
0[0.99, 1.22]
[0.86, 1.08]
[0.99, 1.38]
[1.04, 1.32]
[1.10, 1.38]
[0.92, 1.27]
0[0.86, 1.40]
0.66 [0.31, 1.41]
0.67 [0.31, 1.44]
0.69 [0.32, 1.47]
0.72[0.32, 1.60]
0.71[0.33, 1.53]
0.82[0.33, 2.01]
0.85 [0.35, 2.07]
0.85 [0.35, 2.07]
1.09 [0.70, 1.69]
[0.71, 2.03]

OW~N~NO

11
0.9
11
11
1.2
1.0
11

[

[0.73, 2.04]
22[0.79, 1.88]
1.32[0.79, 2.19]
1.22 [0.80, 1.87]
1.48 [0.91, 2.41]
0.97 [0.65, 1.45]
0.98[0.66, 1.46]
0.98[0.68, 1.42]
1.00 [0.69, 1.45]
1.02 [0.69, 1.50]
1.05 [0.73, 1.51]
1.05[0.73, 1.51]
1.10 [0.76, 1.60
1.00 [0.85, 1.18
1.01 [0.85, 1.20]
1.02 [0.86, 1.20]
1.04 [0.88, 1.23]
1.04[0.88, 1.23
1.04 [0.89, 1.22
1.05 [0.89, 1.23]
1.07 [0.90, 1.27]
0.97 [0.70, 1.35]
1.03 [0.74, 1.44
1.24[0.80, 1.93
1.22 [0.99, 1.50]
1.30 [1.05, 1.61]
0.99 [0.97, 1.02]
1.00 [0.97, 1.03
1.00 [0.97, 1.03
1.00 [0.98, 1.03]
1.00 [0.98, 1.03]
1.00 [0.97, 1.03]
1.03 [1.01, 1.05]

1.02[1.01, 1.03]



A 0.00

Standard Error

Clock: Hannum, factor: Cardiovascular disease, tissue: Blood

100%

0.05 14.5%

0.10 7.3%

0.819 1 1.221
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 1.05 | medpower = 13%, daz0 = 1.08, desso = 1.14 | E =6.91, O = 8, pres = 0.625, R-Index = 0%

Jamod

B

PUB526 -

PUBS572 1

PUBS572

PUBS550 -

PUBS550 -

PUBS550 -

PUBS550 -

PUBS550 -

PUBS550 -

PUBS550 -

PUBS550 -

PUB563 -

PUBS506

PUBS506 A

PUBS506

PUB506 A

PUB506 A

PUB506

PUBO099

PUBO099 -

PUB125

PUB131

PUB131

PUB131

PUB249 =

Summary -

QOOOg&

T
0.819

¢

Effect

T
1.221

Effect [95% Cl]

1.08 [0.97, 1.21]
1.01 [0.90, 1.12]
1.03[0.88, 1.19]
0.99 [0.84, 1.16]
1.01 [0.96, 1.06]
1.06 [1.00, 1.12]
1.02 [0.99, 1.06]
1.02 [1.00, 1.05]
1.02 [1.00, 1.04]
1.02 [0.98, 1.07]
1.09 [1.03, 1.15]
1.00 [0.78, 1.28]
1.04[0.94, 1.15]
1.12 [1.00, 1.26]
1.22 [1.04, 1.44]
1.13[1.02, 1.26]
1.14 [1.00, 1.30]
1.02 [0.92, 1.13]
1.18[0.98, 1.43]
1.22 [1.07, 1.39]
1.04 [1.00, 1.08]
1.02 [0.90, 1.16]
1.20 [1.08, 1.33]
1.14[0.99, 1.31]

1.01[0.95, 1.08]

1.05 [1.03, 1.06]



Clock: Hannum, factor: Cancer, tissue: Blood

0.00 100% I
A B ! Effect [95% ClI]
|
1
PUB526 1 1.12[1.02, 1.23
O \. 1
(!
5 Y !
PUBS52 - | W 1.05 [1.00, 1.10]
|
PUBS72 : 1.02 [0.81, 1.30]
|
PUB572 ; 1.02 [0.81, 1.30]
|
PUB572 - : 0.99 [0.86, 1.14]
1
0.05 7.1%
PUB550 - : 1.04[0.97, 1.12]
|
PUBS550 o ar 1.00 [0.95, 1.06]
1
|
PUB550 - ] 1.01 [0.96, 1.07]
|
|
PUB550 - nk 1.01[0.96, 1.06]
|
PUBSS0 O 0.99 [0.96, 1.03]
g PUB550 - ¢ 1.00 [0.98, 1.03]
w o
'E Q
8 010 55% X PUB550 - o 1.02 [0.99, 1.05]
5 !
2 PUB563 - : 1.03[0.80, 1.33]
|
PUB534 | 1.03 [1.00, 1.06]
|
|
PUB534 & ] 1.05[0.99, 1.11]
|
1
PUBOSS5 - 1 1.13[0.79, 1.61]
1
PUB0SS - : 1.07 [0.77, 1.49]
1
015 5 2% PUB0SS - : 1.36 [0.97, 1.91]
|
PUB0SS : 1.24[0.89, 1.73]
|
PUB0SS - : 1.29[0.91, 1.83]
1
PUBO8S5 - ! 1.45[1.02, 2.06]
|
1
PUB099 A 1 0.94[0.81, 1.10]
1
|
PUB099 - 1 1.30 [1.03, 1.64]
|
PUB143 - : 1.30 [1.07, 1.57]
0.741 1 1.35 i
Effect I
|
|
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary o :’ 1.02 [1.01, 1.04]
1
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 | |
1

T T T
0.779 1.284 1.649 2.117
o =0.05, 5= 1.02 | medpower = 5.9%, daas = 1.12, degse = 1.2 | E = 2.69, O = 6, pres = 0.032, R-Index = 0% Effect



Clock: Horvath, factor: Cardiovascular disease, tissue: Blood

100% B

A 0.000

Effect [95% Cl]

T
|
|
1
PUB526 1 1.00[0.90, 1.12]
1
PUBS572 - : 1.03[0.93, 1.15]
|
PUB572 : 1.00 [0.86, 1.16]
|
PUBS50 - ! 0.94[0.79, 1.11]
|
|
PUBS550 i | 1.01[0.97, 1.06]
0.025 8.8%
PUBS550 1.03[0.97, 1.10]
PUBS550 1.01[0.98, 1.04]

]
1
I
1
PUBS550 o 1.01[0.99, 1.03]
1
o,

PUBS550 o 1.00[0.98, 1.02]
PUBS550 - i 1.00 [0.96, 1.05]
|
5 PUB550 |- 1.05 [1.00, 1.10]
4 0.050 5.9% |
- S PUB563 - I 1.19[0.99, 1.44]
a z i
=] = 1
g PUB506 - I 1.06 [0.98, 1.14]
n |
PUBS506 : 0.97 [0.87, 1.08]
1
PUBS506 - : 1.17 [1.02, 1.34]
|
PUB506 - : 1.09 [0.99, 1.20]
|
PUBS506 - 1 1.09 [0.97, 1.22]
|
0.075 5.4%
’ PUBS506 ! 0.94[0.86, 1.02]
|
PUB099 - : 1.08 [0.95, 1.22]
|
PUB099 - : 1.08 [0.90, 1.30]
1
PUB125 - _ | 0.97 [0.93, 1.02]
1
|
PUB131 o 1 1.01[0.89, 1.15]
]
PUB131 | 1.01[0.87, 1.17]
|
0.100 5.2% PUB131 : 1.18[1.07, 1.30]
|
PUB249 - 1 1.01[0.95, 1.07]
0.819 0.905 1 1.105 1.221 |
Effect I
|
|
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary :‘ 1.01[1.00, 1.03]
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 :
T T T
0.819 1 1.221

0= 0.05, 5= 1.01 | medpoyer = 5.9%, dagy, = 1.08, degys = 1.13 | E = 2.16, O = 3, pres = 0.55, R-Index = 0% Effect



Standard Error

Clock: Horvath, factor: Cancer, tissue: Blood

100% B T
: Effect [95% ClI]
1
PUB526 : 1.11[1.01, 1.21]
|
PUB552 - I.] 1.02 [0.98, 1.06]
|
PUBS572 - : 1.00[0.78, 1.28]
1
PUBS572 - 1 1.01[0.79, 1.29]
|
1
PUB572 o 1 1.00 [0.87, 1.15]
0.05 6.5% :
PUBS550 o 1 1.09[1.01, 1.17]
|
|
PUBS550 o 1 1.00 [0.95, 1.06]
|
1
PUBS550 o 1 0.98 [0.93, 1.04]
|
1
PUBS550 - ok 1.01 [0.97, 1.06]
1
PUBS550 o ¢ 1.00[0.97, 1.03]
|
D PUBSS50 - .o 1.03 [1.00, 1.06]
0.10 5.4% z i
- PUBS550 o o 1.01 [0.99, 1.04]
1
PUB563 - | 1.22[1.03, 1.45]
1
|
PUBO0SS o 1 1.21[0.87, 1.68]
|
|
PUB08S o | 1.09 [0.76, 1.56]
|
PUB0SS : 1.19 [0.85, 1.67]
|
015 590 PUBO08S : 1.13[0.82, 1.56]
1
PUBOSS - : 1.17 [0.86, 1.60]
|
PUBO085 - : 0.94 [0.67, 1.32]
|
PUB099 - : 1.07 [0.93, 1.23]
|
PUB099 - : 1.11 [0.91, 1.36]
1
PUB143 - : 1.18[0.96, 1.45]
|
0.20 1% PUB143 : 1.04 [0.84, 1.28]
0.741 1 1.35 i
Effect I
|
|
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary 1 :’ 1.02[1.01, 1.03]
1
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 | | | |
0.779 1 1.284 1.649

o =0.05, 5= 1.02 | medpower = 5.5%, Oaas = 1.14, desso = 1.23 | E = 2.12, O = 4, pres = 0.175, R-Index = 0% Effect



Standard Error

Clock: GrimAge, factor: Mortality, tissue: Blood

100%

87.5%

- 34.3%

12.2%

9.5%

0.368 1 2.718
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 5= 1.36 | medyower =

81.6%, dago = 1.17, degos = 1.3 | E = 43.17, O = 46, pres = 0.476, R-Index = 95.6%

o)
Q

=
17.9% &

B

PUB572 1
PUB572 1
PUB550
PUBS550
PUBS550 +
PUBS550 -
PUBS550 -
PUBS550 -
PUBS550 -
PUBS550 -
PUBS550 -
PUBO029 1
PUBO76 A
PUBO76 A
PUBO76 A
PUBO76
PUBO76 =
PUBO76
PUBO099 -
PUBO099 -
PUB107
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 1
PUB107 A
PUB107 1
PUB107
PUB107 4
PUB107
PUB107
PUB107
PUB107
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 1
PUB107 1
PUB107 o
PUB107
PUB107
PUB107 4
PUB107
PUB107
PUB107
PUB107
PUB107
PUB107 1
PUB107 1
PUB107 1
PUB136 A
PUB169 1
PUB169
PUB241
PUB241
PUB241
PUB298
PUB298
PUB298
PUB331 A
PUB331
PUB331 1
PUB331 1
PUB331
PUB331
PUB338

Summary -

|

1‘

O b e e e o e o e e e = e e = =

T
2.718

T
7.389

Effect [95% CI]
1.07 [0.69, 1.66
1.05[0.82, 1.34
1.09[1.01, 1.17
1.11[1.05, 1.17
1.08 [1.04, 1.13
1.12[1.06, 1.18
1.08 [1.05, 1.12
1.07 [1.04, 1.11
1.10[1.07,1.13
1.14[1.11,1.17
1.11[1.09, 1.14
1.81[1.58, 2.07
1.50[1.31, 1.72
1.39[1.18, 1.63
1.68[1.48, 1.91
1.56 [1.34, 1.81
1.60 [1.46, 1.75
1.47[1.32, 1.64
1.56 [1.24, 1.96
2.76 [1.77, 4.30
1.16 [0.57, 2.38
1.37[0.74, 2.54
1.39 [0.74, 2.62
1.61[0.82, 3.16
2.20[0.85, 5.68
1.83[0.88, 3.80
2.58[0.91, 7.32
2.59[0.91, 7.38
1.40[0.71, 2.76
1.34[0.78, 2.31
1.52 [0.79, 2.93
1.60 [0.86, 2.97
1.65 [0.95, 2.86
1.59 [0.97, 2.60
1.59 [0.97, 2.60
1.29[0.84, 1.99
1.42[0.87, 2.31
1.45[0.89, 2.36
1.49[0.93, 2.38
1.51[1.00, 2.28
1.86 [1.07, 3.22
1.50[1.02, 2.20
1.52 [1.03, 2.25
1.59 [1.07, 2.37
1.24[1.02, 1.51
1.27 [1.05, 1.54
1.28 [1.05, 1.56
1.31[1.08, 1.59
1.29[1.09, 1.52
1.31[1.13, 1.52
1.31[1.13, 1.52
1.31[1.13, 1.52
1.10[0.81, 1.49
2.05[1.45, 2.90
1.91[1.23, 2.96
1.50[1.01, 2.23
2.15[1.82, 2.54
2.32[1.82,2.96
1.05[1.01, 1.09
1.10[1.06, 1.14
1.08 [1.04, 1.12
1.33[1.20, 1.47
1.41[1.18, 1.68
1.35[1.19, 1.53
1.72 [1.35, 2.19
1.74 [1.57, 1.94
1.44 [1.31, 1.58
1.10[1.07,1.13

1.36 [1.29, 1.44]




A 0.0

Standard Error

Clock: GrimAge, factor: Cancer, tissue: Blood

100%

= 29%

10.8%

7.6%

0.607 1 1.649 2.718
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 5= 1.15 | medpower = 27%, daas = 1.17, desso = 1.28 | E = 15.31, O = 16, pres = 0.817, R-Index = 9.6%

Jamod

B

PUBS572 1
PUB572
PUB572 1
PUB574 1
PUBS550 -
PUBS550 +
PUB550 -
PUBS550 -
PUBS550 -
PUB550 -
PUBS550 -
PUBO76
PUBO76
PUBO76 A
PUBO76 A
PUBO76
PUBO76
PUBO099
PUBO099 -
PUB143 1
PUB150
PUB150 -
PUB150 -
PUB150 -
PUB150 -
PUB150 -
PUB274 1
PUB274 =
PUB274 1
PUB274 1
PUB274 1
PUB274 =
PUB274 1
PUB274 1
PUB274 1

PUB274 =

Summary -

ceossoth}-

0
0

Effect [95% CI]

0.223

T
0.368

T
0.607

Effect

T
1.649

T
2.718

1.02 [0.79, 1.30]
1.01[0.79, 1.30]
1.04[0.92, 1.18]
1.03 [0.95, 1.12]
1.09 [1.00, 1.18]
1.07 [0.99, 1.15]
1.01 [0.95, 1.08]
1.01 [0.96, 1.07]
1.03 [0.98, 1.08]
1.08 [1.04, 1.12]
1.09 [1.06, 1.13]
1.56 [1.23, 1.98]
1.32[0.95, 1.83]
1.49 [1.18, 1.89]
1.34[1.01, 1.78]
1.33[1.08, 1.64]
1.52 [1.29, 1.80]
1.02 [0.84, 1.24]
1.84[1.32, 2.57]
1.40 [1.07, 1.84]
1.10 [0.93, 1.31]
1.11[0.74, 1.67]
1.19 [0.98, 1.44]
1.03 [0.84, 1.27]
1.11[0.89, 1.39]
1.54 [1.36, 1.74]
0.67 [0.48, 0.93]
0.45[0.25, 0.80]
0.89[0.73, 1.09]
0.89[0.69, 1.15]
1.15 [1.05, 1.26]
1.12 [0.96, 1.30]
2.62[2.21, 3.11]
1.74[1.11, 2.73]
0.83[0.60, 1.15]
1.09 [0.81, 1.46]

1.15 [1.06, 1.25]



A 0.00

Standard Error

Clock: GrimAge, factor: Cardiovascular disease, tissue: Blood

0.04

100%

99.7%

0.08 4 = 64.9%
0.12 1 - 34.5%
(@]
0.16 1 - 21.6%
T T T T
0.779 1 1.284 1.649
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 1.21 | medpower = 71.5%, daas = 1.12, degso = 1.2 | E = 16.55, O = 20, pres = 0.128, R-Index = 59.6%

B

PUB572

PUBS572 1

PUB550 -

PUBS550 -

PUBS550

PUBS550 -

PUBS550

PUB550 -

PUBS550 -

PUBS550

PUB076 -

PUBO76

PUBO76 A

PUBO76

PUBO76

PUB076 -

PUBO099

PUBO099

PUB125

PUB131

PUB131

PUB131

PUB150 -

PUB150 -

Summary

a
-

| e
|
]

|

R

R |

>

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1

T
1.35 1.822
Effect

Effect [95% CI]

1.04[0.94, 1.15]
1.01[0.87, 1.17]
1.07 [1.03, 1.12]
1.07 [1.04, 1.10]
1.21[1.05, 1.40]
1.10 [1.04, 1.17]
1.15[1.08, 1.22]
1.07 [1.04, 1.11]
1.09 [1.03, 1.15]
1.08 [1.04, 1.12]
1.20 [0.91, 1.58]
1.09 [0.81, 1.47]
1.76 [1.39, 2.23]
1.75[1.31, 2.33]
1.39[1.13, 1.71]
1.49 [1.24, 1.79]
1.31[1.11, 1.55]
1.64 [1.29, 2.09]
1.09 [1.04, 1.15]
1.30 [1.08, 1.56]
1.25[1.11, 1.41]
1.22[1.02, 1.46]
1.40 [1.09, 1.80]

1.43 [1.30, 1.57]

1.21[1.14, 1.28]



Clock: PhenoAge, factor: Cancer, tissue: Blood

A" B : Effect [95% CI]

PUB572 o : 1.03[0.81, 1.31]
PUB572 o : 1.02 [0.80, 1.30]
PUB572 o : 1.01[0.88, 1.16]
PUBS550 o :(. 1.03[0.98, 1.08]
PUB550 - |o 1.03[0.99, 1.08]
PUBS50 - q) 1.01 [0.97, 1.06]
PUB550 - o 1.02 [0.99, 1.06]
0.05 8.9% PUBSS0 - 0 0.98[0.96, 1.01]
PUB550 o :o 1.03 [1.01, 1.05]
PUBS550 o b 1.02 [1.00, 1.05]
PUBO76 o : 1.38 [1.03, 1.84]
PUB076 o : 1.36 [1.02, 1.81]
PUBO76 o : 1.18 [0.93, 1.50]
PUBO76 o : 1.11[0.87, 1.42]
S PUB076 E 1.21 [1.00, 1.46]
-ugJ 0.10 6% -%U PUBO76 A : 1.26 [1.05, 1.52]
% £ PUB0BS : 1.15[0.81, 1.63]
? PUBO8S5 - : 1.21[0.86, 1.70]
PUBO08S o : 1.10[0.78, 1.55]
PUBOSS : 1.30[0.92, 1.83]
PUBO0S5 - : 1.10[0.80, 1.52]
PUBOSS5 - : 1.16 [0.84, 1.60]
PUB099 A : 0.99[0.85, 1.15]
015 4% PUB143 - E 1.12 [0.90, 1.40]
PUB274 o : 0.73 [0.56, 0.95]
PUB274 - : 0.65 [0.49, 0.86]
PUB274 - : 1.02 [0.77, 1.36]
PUB274 : 0.97[0.76, 1.23]
PUB274 o : 1.05[0.96, 1.15]
PUB274 - : 1.11[0.92, 1.34]
PUB274 o : 1.53[1.23, 1.90]
PUB274 - : 1.37 [1.03, 1.82]

0.20 5.2% |
PUB274 - 1 1.01[0.80, 1.27]

0.741 1 1.35 |
Effect PUB274 - 1 1.24[0.86, 1.78]

l
. Power 0 - 10 Power 20 - 30 Power 40 — 60 Power 70 - 80 . Power 90 - 100 Summary - : ¢ 1,03 [1.01, 1.05]

. Power 10 - 20 Power 30 — 40 Power 60 — 70 . Power 80 — 90 | ; |
0.67 1 1.492

o= 0.05, &= 1.03 | Medponer = 5.6%, dagy, = 1.2, degys = 1.34 | E = 4.71, O = 9, pres = 0.033, R-Index = 0% Effect



Standard Error

Clock: GrimAge, factor: Dementia, tissue: Blood

100%
0.05 16.3%
0.10 7.7%
0.15 6.2%
0.20 5.7%
0.25 5.4%

0.67 1 1.492
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a =0.05, 3= 1.05 | Medpower = 7%, daas = 1.2, deeo = 1.34 | E = 0.67, O = 1, pres = 0.671, R-Index = 0%

Jamod

B

PUBS572 1

PUB554 -

PUB150 -

PUB150

PUB269 1

PUB269 1

Summary -

T
0.779

Effect

T
1.284

T
1.649

Effect [95% Cl]

1.05 [0.66, 1.68]

0.95[0.89, 1.01]

1.03 [0.65, 1.63]

1.01[0.75, 1.36]

1.05 [0.86, 1.28]

1.24[1.07, 1.44]

1.05[0.93, 1.18]



A 0.00

Standard Error

0.04

0.08

0.12

0.16

Clock: PhenoAge, factor: Cardiovascular disease, tissue: Blood

100% B T

PUB572

PUBS572 1

PUB550 -

PUBS550 -

PUBS550

85.1%

PUBS550 -

PUBS550 -

PUB550 -

PUBS550 -

PUBS550

PUB076 -
F32.3% U

19MO,

PUBOQ76

PUBO76 A

PUBO76

PUBO76

PUB076 -

PUBO099 -

17%

PUBO099

PUBO099 -

PUB125

PUB131

PUB131 -

PUB131

11.6%

PUB249

1 1.284 1.649
Effect

Power 40 - 60 Power 70 — 80 . Power 90 — 100 Summary

Power 60 - 70 . Power 80 — 90

|
|
|
|
|
|
i
1

o =0.05, 3= 1.13 | medponer = 62.4%, dazo = 1.08, desop = 1.14 | E = 14.45, O = 13, pres = 0.546, R-Index = 70.7%

1.2IS4
Effect

T
1.649

Effect [95% CI]

1.00 [0.91, 1.11]
1.02 [0.88, 1.17]
1.08 [0.97, 1.21]
1.03 [1.00, 1.07]
1.05[1.01, 1.09]
1.04 [1.01, 1.07]
1.02 [1.00, 1.04]
1.02 [1.00, 1.04]
1.02 [0.99, 1.06]
1.03 [1.00, 1.07]
1.37 [1.03, 1.83]
1.31[0.97, 1.76]
1.62 [1.28, 2.06]
1.57 [1.23, 2.01]
1.46 [1.21, 1.77]
1.51[1.26, 1.81]
1.11 [0.90, 1.37]
1.16 [1.01, 1.33]
1.46 [1.18, 1.81]
1.00[0.97, 1.04]
1.08 [0.97, 1.20]
1.19 [1.10, 1.29]
1.24[1.13, 1.36]

1.01 [0.93, 1.09]

1.13[1.07, 1.19]



A 0.00

Standard Error

0.05 1

0.10

0.15

0.20

0.25

. Power 0 - 10

Power 10 - 20

Power 20 - 30

Power 30 - 40

Clock: PhenoAge, factor: Mortality, tissue: Blood

100%

- 55.5%

18.3%

10.8%

8.2%

%

1 1.492
Effect
Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 — 90

o =0.05, 5= 1.11 | medpower = 100%, dsss = 1.03, dess = 1.04 | E = 31.1, O = 36, pres = 0.114, R-Index = 100%

Jamod

B

PUB595
PUB520 -
PUB520 -
PUB520 -
PUB520
PUB520 -
PUB520 -
PUB520 -
PUBS520 -
PUB520
PUBS550 -
PUBS550 -
PUBS550 +
PUBS550 -
PUB550
PUBS550 -
PUBS550 -
PUBS550 +
PUBS550 -
PUBS538
PUBO040
PUBO040 -
PUB040
PUBO040
PUBO040 -
PUBO040 -
PUBO043
PUB043
PUBO76 A
PUBOQ76
PUBO76 A
PUBO76
PUBO76
PUBO76 A
PUBO099 -
PUBO099
PUB169
PUB169
PUB241 1
PUB241
PUB241 1
PUB298 1
PUB298 +
PUB298 1
PUB338 -

Summary

o o - -

T T
1.35 1.822
Effect

Effect [95% CI]

1.01 [0.97, 1.06]
1.08[1.03, 1.13]
1.04 [1.01, 1.07]
1.05 [1.02, 1.07]
1.03 [1.02, 1.05]
1.03 [1.01, 1.05]
1.03 [1.01, 1.04]
1.05 [1.03, 1.07]
1.06 [1.04, 1.08]
1.05 [1.04, 1.06]
1.08 [1.03, 1.13]
1.04 [1.01, 1.07]
1.05 [1.02, 1.08]
1.07 [1.05, 1.10]
1.04[1.03, 1.06]
1.04[1.01, 1.07]
1.03 [1.02, 1.05]
1.05 [1.03, 1.07]
1.06 [1.04, 1.08]
1.17 [1.02, 1.34]
1.63 [1.26, 2.10]
1.74[1.34, 2.26]
1.05 [1.02, 1.08]
1.06 [1.03, 1.09]
1.04 [1.01, 1.08]
1.51 [1.10, 2.08]
1.06 [0.96, 1.17]
1.02 [0.91, 1.15]
1.39 [1.20, 1.62]
1.35[1.16, 1.57]
1.37 [1.20, 1.56]
1.29 [1.13, 1.48]
1.38 [1.25, 1.52]
1.32 [1.19, 1.46]
1.17 [0.98, 1.40]
1.41 [1.05, 1.90]
1.131[0.81, 1.57]
1.26 [0.92, 1.73]
1.31[0.84, 2.05]
1.42 [1.23, 1.64]
1.42 [1.23, 1.64]
1.02 [1.00, 1.05]
0.99 [0.97, 1.02]
1.02 [1.00, 1.04]
1.05 [1.03, 1.07]

1.11[1.08, 1.15]



